O—REILICKP2EEHEEEDEY A

HAEHB&BLab. NAN—XF AT I7YIT—K—
FANEE s nakamura@b-and-b-lab.jp
2022.04.06










W ERHA



W77 Ik

OFEBE7 7 YUk (5%X180%X320mm) X 2
% RIRUF—EHR 79U LS
5x180%320mm A000-5SS

Speedy> ) —X L—H—INT#

¥1,170
prime &6 EIEHEER 1
R > b 12pt (1 3 [
Ar 7,000/11
A 0f 33708
EhSEDE<LMATEIBENHEDET. 1L, BHOT
74 LRGENSBA 2NV BEEN BN FET
L] A
Amazon BRF—7-—F
ZIRYF— T2 UILHR  5%180 X 320mm A000-555
hy FEL—Y—INTHOMT Y —EXEZRELTWLDS
77T TR, R—LtEVRICKET RNV EVTT,
HREtT—XEUSBAEU R ETHELADIE, BYFICHEWL
HEZD, BEEZTDIETEDTNITAIENTEES,
Spslo FE< Y DBINT A RhE A2 A
OHXD—I_T ﬁ Sk B‘Z/\—'U'— 1 Y OBMIANE

o s DHRANR—H—2
SR
Board_Cut_1.dxf L

FIULIRA

L— Y — T CHEAMT LT THE D, L—F—hy E—~DHNIEATEATA L —EALYDY 7 FCRAEMAZ L bTEET,
XEEL AN Y — ERDBLUEICHHUA DY CLEL



Bo— L SEURL

@D . F’t{)lf https://akizukidenshi.com/catalog/g/gP-13041/
Lwd > a8 > NTME > ERSIBHO-1t Loadcell) > O— LI S INMA2 ) (E—LR)  2kq
wm
O-KEl SYIARA> b (E—AR) 2kg TIVAT—II 2kg X1

[SC133-2kg]

W P-13041

RFEH 2018/03/21

A—=H—h7FT Sensor and Control Company Limited.

BU LGS ERET AUCY(ERTRE)TT, PILSRERICDTHS —H R BLA ST —SHRA—
Z 2Ty SEBBRTED DI SNTWET., ARSRIATO0- LT, BRICGULREEU=7
CHALET, KEEEELT, KOARICERT 3ETSAORERLE LTHAINET,

[E=0E ]
- BEH(<—ABME : PILSHDHL
- EHER : 2Kg(DILAT—IL)
A=/~ 00— BRE : LAY —ILO150%
;" . = _% :'] - BT 1 1.0£0.2mV/V
- - M : 0.05%( IR —ILICHLT)
+BO/(S YR 1 20.05%( ZILAST —ILEHULT)
LU PUF L IRE : 0.05%( LRI —ILUCHLT)
C ABAE - 10004100
S A E SR 10004100
« EDDIRRIE RO : 5~12V
« MRAEHEE : -10T~+40C
=)L : B230mm(K @3ImmiB AL L)
=T : NEEAN(Excitation) F 5 R [FHB)/ ¥ A T A [REB). CLHENTSARE)YTATAE
]
- WDEIAG : MAx2, M5x2
YA XEEE : 80x12.7%12.7mm
THE : AVBARSUISTALESS—USITT, BEAPISHEOES LTS R,

BT TOE Ay F=C-03950

M T=P-12209. P-12210

HHX7 1180 — FILBAD > (— 99— —)LBRRR T =K-12370
BSC133-2kgPDFF —F3— |
BEROTER(VITAB)CLDBBMELE L, UITAMIZES

< BEER-HZ ok / 7 1b A -} / I{(PIC HE RX) / USB / TR(10-220 T0-92 TO-3P SMD) / FET(Nch Pch SMD) / #i#A / £24°28 / 24" / T 44} / LED(3mm Smm
1 SMD £ A°0- 1= 707°) / LCD / ACPT 79 / SAFRAG / SW / -3 / A:0R0-7" / BAR(LA-9% SMD DIPE S48 B2 783) / Lonad” / L300k / BRHA / 3308 / 2303 / TRY-3
/ R—HR / AR / TAEME / X -9

Size: mm (80 x12.7 x 12.7 mm)

T T 1 T T
i i i i ~
T i s o
i i ' 'e i
2-M4 2-M5
',
% : .
---‘@‘" """""" i ‘““‘@— o
Features: 15 0 15
Model: SC133 80
Rated load: 2kg s e .
T —— % max 2 3% M5 % 2
Material: Aluminum alloy

Apply to: kitchen scale, body scale, baby scale, Platform scale, pricing scale, fore test equipment




B

OM4x20mm MMt L : 2K

B (NIRRT

£E URL

Modes
ISONAS(+ME A AT LA

wkkkl (378OLEa-)

R HEHE ORI

mEE 18 POy M4 ERO-F 18608275 @@ -

SRBREHR) A—T> BEE(RA) O ¥19
ISR

¥l7 |1 W SRy HMCANS

COERE BLOFY 2L 80 BRNSEATT
MOBWBRERDS

https://www.monotaro.com/p/1860/8275/

OMS5 X 20mm MAL: 2 &

RULOFY M5 £R(mm) 20 ACEYFmm) 0.8

£E URL

Modes
SO+ AT =04 v+

ok d o aseoLEl-)

[ 200 s (TS

AER 18 RULOSY M5 Fea-—K 18605597 S8 -

SBRRER(EH) A—T> RGO ¥20
BEEE(RS)

e s

COERIZ AUORT 2L 83 BREN)SEBATT
| BOWNERS

Em0R 2-70

https://www.monotaro.com/p/1860/5597/

R—Ltr2—THEATETET,

OM3 X 10mm : 474

JLREEICHET — 7HERRKICIITE

Modes

ISONES(+FARE AT LA
whkkd aBoLE-)

B | me7u | 0secments

REE 1 BCONCG M3 EXO-F 18507286 S8

SRBRSES) A-T> ETEERL) O ¥10
RRITEEE(BR)

v9 |1 w /Ay hEANS

COMmBIE QUONY /i 85 M SEAFET
BOMSERD

QUORG M3 HE AFLLA BFSmm) 10 %S%URL

https://www.monotaro.com/p/1860/7286/

O7viv—M3X4W SLRERCEEGT-7EREBICERE

OJLE

by > BF LESHEGH > IAR - 752 > ANTLR (84A)

| eo5om ]
¥Owiy— A7 LA

whddR QeRaLE s
EEEEEE) | 1omaasa | o sy

ARR UtyD(50l) SUTE M3 EO-F 61054395 2@ M3

TSR © 109

RITARIE(B)
¥v99 |1 W /RSy MoAnS

Q I1SROERNENS | YOBRL (TS

CORMBIE WUTE - RS LS 32 BED SR EY
BOWIEND

—BREIY v —-TT,
A7 AL A(SUSIONHRESEALTED. BRESBDET.
LOBALLTULARKCLELE,

ZZURL
https://www.monotaro.com/p/6105/4395/

ARTLAR (B@A)

[020-001-000(R)]

WED— 1 P-16317

RAB  2002/10/04

A—=h—h7 T E-CALL ENTERPRISE CO., LTD,

- ADEICWMOMIZTLARORTY ., BIFAOH LIFICESTE,
i — 7t

THRAVTVWETOT, FSIEOEORTY.

wlifE : 11mmo

a2 : 7mm

nfBlARMTT.

— % 7 5RIRT55:P-00298

£E URL

https://akizukidenshi.com/catalog/g/gP-16317/



S URL
https://akizukidenshi.com/catalog/g/gK-12370/

Bo— KKty yv”

HX7118HER % 1

by > ¥BRETI—I) > A9 —J1—RIC> ADI(—F > HX7 1 1A O—-FZLHADI (=9 T3 -—)LEIR

(Ana ]
[AE-HX711-SIP]

WED - K-12370

REH 2017/08/22

A-=h—h7TY BASHBABTIRE

DABTERUET .

[ B35

- BHERE : 4.5V~5.5V

« hHF—FL— |~ : 10SPS

« ADO A/ (—9DMEE : 24Ew

T T yu—— BHX711 $@HPDFF— 25— b ;:hlp power supply regulator ellm.malc.s: the need powic sapply regsiators
L@m—ﬁl—&ﬂ—ﬁﬁ - —— DlArduinot > F LI —2 or an c_xtemal supply regulator to proudc_analo_g normmal operation < 1.5mA; power dowa < 1A
EBRICADCBMNTS power for the ADC and the sensor. Clock input is pe il
flexible. It can be from an external clock source,a  * Operation supply voltage range: 2.6 ~ 5.5V
IS ERTERT R KHX711H6 =]-12473 crystal, or the on-chip oscillator that does mot * Operation temperature range: -40 ~ +85C

¢ =

e

(=) B oR ®(2019.7.319%h)

HX7118M O-FEZJIAADIXYIN—F EI1—-NLE#E

Arduino¥ - D22 E(CIERT BT, O— FOLOBEREOREEMNEL. EDFTRIEETILT, %
EHRETY. 20wI(PD_SCK)ET—2(DOUT)D2AHEE T, Arduino/2EOGPIOTEELFET .
GitHub [CHX71154 3 UNE0, VI FHEOEE(CLIRDEY, O— FJLEIZVDD - GND - INA+ « INA-

BUEEER»PIC(12F 16F 18F 24F) / H8 / RX / DIPYr9k / LCD / #8) / V9°3-9 / i / DIPSW / LED(3mm Smm 47 SMD A*9- 7£7") / TR(T0-220 T0-92 TO-3P SMD) /
FET(Nch Pch SMD) / 5" 44-}" / SSR / BHR(1ZA" -4 SMD DIP{E: 2548 B 743) / 2ok a"-1 / E2oned” / £ 0hab / BR4A / 5-338 / 2409 / Bit)-2 / Bim—AS / (AS8 / THEA@

/K-y
[K-12370] HX7 116 O-F@LAADIM/(—% Eva-uBR D

1F+w b ¥350 (Bid) L PR

1

N7

CN3 CN2

Fy k-

Rmsscn LT

® HEEFHEL avia
Semiconductor

HX711

24-Bit Analog-to-Digital Converter (ADC) for Weigh Scales

DESCRIPTION

Based on Awia Semiconductor’s patented
technology, HX711 is a precision 24-bit analog-
to-digital converter (ADC) designed for weigh
scales and industrial control applications to
interface directly with a bridge sensor.

The input multiplexer selects either Channel A
or B differential input to the low-noise
programmable gain amplifier (PGA). Channel A
can be programmed with a gain of 128 or 64,
corresponding to a full-scale differential input
voltage of +20mV or +40mV respectively, when
a 5V supply is connected to AVDD analog power
supply pin. Channel B has a fixed gain of 32. On-

require any external component. On-chip power-
on-reset circuitry simplifies digital interface
initialization.

There is no programming needed for the
internal registers. All controls to the HX711 are
through the pins.

Vavop

FEATURES
* Two selectable differential input channels

‘On-chip active low noise PGA with selectable gain
of 32, 64 and 128

On-chip power supply regulator for load-cell and
ADC analog power supply

On-chip oscillator requiring no external
component with optional external crystal

‘On-chip power-on-reset

Simple digital control and serial interface:
pin-driven controls, no programming needed
Selectable 10SPS or 80SPS output data rate
Simultaneous 50 and 60Hz supply rejection
Current consumption including on-chip analog

-

.

.

16 pin SOP-16 package

APPLICATIONS
* Weigh Scales
+ Industrial Process Control

Var
S8850 str 2.7-55V

I 1 R2  Ri ] N rL JI
10uF
g VFB BASE ] VsuUP DVDD

AVDD
INA+

1 VDD |@|HA N DC5V
2 DAT |7—#4%h
3 CLK 7 O w 7]\7) g;r}ig) E Li ﬁﬁj—— —_ 7° Fig. 1 Typical weigh scale application block diagram
4 INPB [Bch+ AH mEMEM TS,
L—% >(amon)d R k7 & &7

5 |INNB |Bch- A I—E>(amon) BRABET—T (/) (— - AMA
6 |GND |GND S—1REIC) BHAE WHBEST & 1B25mmx R
CN2 2% W& 2mx[!é“1.1¢1_mm 3910
i AVDD |O— F‘t’)bﬁi‘ﬁ v1’110
2 GND |GND | / i _“,“‘”“f“frﬂ'_""_,
CN3 %ﬁ ’ﬁ ‘ll'\ ) o .doz [nma;: :=; MAT%OFF] THELRHLVEITE T, HE
1 INNA [Ach- Ah h:\ ~ ‘,1;?’ . OB 1 Amazon22) BWNR. 7 <R ARIERE <
2__|INPA_[Ach+ AT _—

HA wae o : A~/ B(25mmx2m BE1.14mm) a

g °©cQ o 9@



W5 TE

O%v 7 M38
JLE BRUNRNZERT I -HIINE

A LEMTTHA, RN TRy TDIEDAREHANS T LNDTEEFD T,
BRI AN—FICERYMIT TR ENAEERZENTEET,
FEBICHNCT VDO THODTFERIL > TEARAL TLLE L,

SK11 RIHNRIA SILSw T M3x0.5

I35 F: SK11(T R —-11)
wrhdkd - 3OS

¥1,315

vPrime 3SiE s FIRYIRIEGE R
M1 bz 13pt (1%) M2 C5¢

] Amazon Prime Mastercardfiil~ A& T7,000/1 = T L2/ |
; AR E ZOBSRICHIALIBA0M 13158 (.
o
»
” 1 Z: M3%0.5 A
b1d
; M3x0.5 Méx0.7 M5x0.8 M6X1.0
-
A
M8x1.25 M10x1.5 M12x1.75
WRICVIRE ADY S EBASNET AZ A RSN #
» = = -
/ i I i AN || myyS wyys
¥1,315 ¥403 ¥854

o flid:— IR - 27> L AR Y DER(AR D)

SLRETEICHET —7EHAFICIETRE . smumomerRc. ARESROLC LI IOy S

o AW THAT:MIxNS

Omnal ECYARFYILEY b
Y -TR- -7 > BBTHA - T7IH > KBTA/(—wW - PoEYU s RULPOEHU > Rt > IRD KULE v |

JZ2F: e-smile (=231 IL) X%UDT& éj.] I\\i/r/ i?":ci P U}l/bi‘/\\gﬁj_
e-smile MEXDEw b RUJLEw b 7 AE#H HSSH 6~19mm
BITTE Frgt B<H FH>O—F+1 >4 ST 6Xxtw b

Ry v 28@00H4E

890

sprime

Amazon Prime MastercardifillC A& T7,000/R8+ > R Lt 2|

ASIHE COMGICHALIZSS0M 896/ [

« MWD HYY—id, RESHLEBCTI/(VELOED, A3 (EXR) o @b CRVWESICMEMSMT
TE, HAtERAERA AREENTIRTY.

« BRERMERMELTVDOT, BRTOHRSHRZDNY. RUOBEE> TS BEE Y. HOEHERG
THERELEDRUIED IS EEHDEFEA.

o (B8] FYLI-TaJOEMDAHYS— AWROMI. JURD, RO DES, MBRDMT & - 7L
STOL )T B R - MR - S - TSAF Y ORESRRICHAET

o [#H) A )ORESA)—=BRAEWL

o [fHHR]  (M3E) MW (AE) 90 (1) SHN (REWP) FIL -T2 (WE5) ok

e [t7w FAFE)] 6mm 8mm 9mm 12mm 16mm 19mm 64tz b (FAfHMals) 6.35mm

COBROLER
BRICTORESDE B LLAETNET TS24 e-smile (A—2<-IL)
fii  4589581812074M
ERoEn 1



$H AL T



®M4 X20mm: 2 F

@DM5 X 20mm : 2 &

Xy 7 TR LUNITI
TIEREHE 2.5mm
JLREEICHAAET — 7ERABICIETE

iR L BERGEC Y AD K YL T
MALHEES &S HECY D
EMTHBETT,

WILEXA4

@7 vy — M3Xxatg
S LREEICHAET — 7ERECERE

®M3 X 10mm : 44
JLAREEICHEET — 7 ERBICIITE



FifR., 7R 77 L



iR

M5Stack

WK 1/4W 220 Q

A (xEaERRn) 1/74W2200 (100%A)

HFUL LINK INOUSTRIAL CORP:
3 r'd BOOT < TREABOEENR() A )ERBTT, TRES, WRFLCMLSPRINTIET,

/ CHE:aS%
CEEWD 1AW

/ ®18=99~10 15 (RECLOHBLTOSROSIOTIHTSIET)
i

P
LLEWSA] £ 5 L LS
c LL2W T I MR b
MR HLiZ s} / TROT0-220 T0:92 T0-30 SMD) / FET(Nch Peh SMD) / ¥ £1-4° (B8 pavhd- F'9r" SMD CRO m1t) (4 BN BAT EDLC B7) / 072
§ / LED(3mm Smm A% SMD £2: 0 207) / SW /7 BENLK % SMD DIPE IR B2 78D/ Zist -4 / ACY T sk / IR/ 2108/ 9 / BB
[RZ5221] 1A (REEWEN)  1/4w2200 (1008A) @)
18 V100 (w) Z
a ¢ winm ! ® aasiie W

2@BE (WE) VOO0 (RA) (ItY 180 (B2

https://akizukidenshi.com/catalog/g/gR-25221/

BEMRIE : 5V (4.5 ~ 5.5V)
Hh7—4% L — b : 10sps
ADAXN—FfREE 24 Ev b

BREENNVTH D=, 1I0BEHOHVERD,

—7. M5StackX°ESP32% [ZI0EB/E A 3.3V D7=

5L ALY L TDAT,CLKS AV ICEFICIEST (220Q)
ZHEAT I LELNDH B,

B ereae

CN1 B8 i CN3 CN2
1 |VDD_|@m®mAH DC5V
2 [oAT [7—5E5h

3 [CIK [5095AR

4 [INPB [Behs AD)

5 INNB |Bch- Ah

6 GND |GND

1 |AVOD |O— F e mEE
2 |oND |GND

CN3 2% i

1 |INNA [Ach- A
[2 |INPA |Ach+ A

https://akizukidenshi.com/catalog/g/gK-12370/



7077 LIZDOWT

b > $WKES ) > £29=TT=RIC > ADI (=% > HX7 1 18M O— FEHADII—S E2—)LaR @ AEHX711 | Arduino 18.16
ana) HX71188 O-KEABADIYN—% EJ1-AEBE 710k RE T9F V- AT
[AE-HX711-51P]
WEI— K-12370
®XE 2017/08/22
X=hH=h7TV BRGHEARTEH AE HX711
Arduino%- 1R ECIBRT BT, O— FLLOERBOTEENEL. BOWTRIEETEILT, W% I#include <Arduino.h>

BAC&bRed. 209 2(PD_SCK) &7 —2(DOUT)DUBE T, Arduino’d OGPIOTBALET,
GitHub [CHX71154 7 5UB$0. VI FMFOSECEZDET, O- FEILERVDD - GND « INA+ « INA-

DARTIERLET . void AE_HX711l_Init(void):;
. LEE void AE_HX711 Reset (void):
HWER - BERE © 4.5V~5.5V

long AE7HX711ﬁRead(void) H
long AE_HX711 Averaging(long adc,char num);
float AE_HX71l getGram(char num);

- NF -~ : 105PS

o h . - ?  ADT/ (S5 = 24E' |
f :

B RRmE(2019.7,31B1)

L COBREERICNAS BHx711 #BUPDEF I |
Gl BECADCBNT S DArduine*? T — 2 /[ =mmmm e e e e
IEERTER 1 #HXT1 188 =]-12473 /B DRE
/e e
BB PIC(12F 16F 18F 24F) / H8 / RX / DIPYsk / LCD / 481 / W 3-2 / 4 / DIPSW / LED(3mm Smm Ml SMD K9 782°) / TR(T0-220 TO-92 TO-3P SMD) / $define pin dout 8 DATDIEFRLDGPIOBSICEE
FET(Nch Pch SMD) / #°44-" / SR / BME(LA" ¥4 SMD DIPAL 18 ) 765) / 1A 44 / U onetr / o9ak / 88U/ 330 / 108 / -3 / TR0 / S6RNER / TV fdef in slk 9 -
= efine pin_s CLKDIEH T DGPIOESICEE
[K-12370] HX7 1188 O-FOUBADIM(-F Eva-use D i J— ___________________________________
L = .
s v 350 o) e o tor  mEmsEn @RI // B—FE)Il SFE SC301A 100kG [P-12036]
= // ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
//#define OUT_VOL  0.002f //ERED V)
https://akizukidenshi.com/catalog/g/gK-12370/ //#define LOAD 100000.0f //EHBE [g]




Presented By

No Tech.,
o Life

BAB
LARB. BAZ&tk B&B Lab.

Hacle the Future IoT System R&D Innovatlor



